INSTALLATION INSTRUCTIONS FOR PLB BACK-LIT PANEL LIGHT

Lighting

READ INSTRUCTIONS AND REVIEW ALL DIAGRAMS BEFORE INSTALLING THE FIXTURE. KEEP THESE INSTRUCTIONS FOR FUTURE REFERENCE.
CAUTION

Risk of electrical shock. Make sure the power supply is OFF before installing or maintaining the fixture. Never perform maintenance or cleaning while the fixture is powered.
Disconnect the power and ensure the fixture is cool before maintaining.

GENERAL

This product MUST be installed in accordance with the applicable installation code by a person familiar with the

construction and operation of the product. Fixtures must be wired in accordance with the National Electrical Code and all applicable local codes. Proper grounding

is requiring for safety.

DO NOT INSTALL DAMAGED PRODUCT! This luminaire has been properly packed so that no parts should be damaged during transit. Thoroughly inspect the fixture for
any freight damage; freight damage should be reported to the delivery carrier

ASSEMBLY AND INSTALLATION
+ DISCONNECT POWER BEFORE INSTALLING OR SERVICING.
option # 1 : T-Bar Mount (Standard) ~:LL ELECTRICAL WORK SHOULD BE COMPLETED BY
1. Remove the ceiling gypsum bpard or the original ceiling module. :AZ%'E.EELEA%FOENRASLO(NE?;Q‘EDG\ONALANDLOCALELECTR\CAL
2. Install the panel light into the ceiling gypsum board or module space. OF ELECTRIC SHOCK

3. Use the T-bar clips to secure the fixture on T-bar or hook the aircraft cable onto the T-bar clips.

1. Replace existing lighting fixture from ceiling with LED Panel.

Alternative 1:
Hook aircraft cable/jack
Alternative 2: chain onto the T-bar clips
Option # 2: Suspension Mount (Optional)
1.Confirm the inclusion of the following 2. On the surface of the ceiling, mark down the four 4. For each hole location, drill the expansion pipe
spare parts prior to installation: corners corresponding to where the panel light's (spare part #10 on diagram) firstly into the newly
mounting anchors will be located. formed insert, and fasten securely with suspension
3. Drill each of the four corners with a diameter of fixed bushings and self-tapping M4 screws
6mm. (spare part #9 and #8 respectively)
5. Screw on wire rope (spare part #7 and #6) so that
1 |LED Panel Light 1 the top knob makes contact with the ceiling.
2 |L-shape holders 4
3 |L-shape fixing screws 4 @ @ V A V A
4 |Wire rope fastening screw 8
- —==—p6mm
5 |Steel wire buckle 4
6 |Aircraft Cable 4 @
7 |Suspension fixed bushings 2-1 4
8 |Self-tapping M4 screws 4 %
9 |Suspension fixed bushings 2-2 4
10 |expansion pipe 4 T
6. The mounting length from ceiling can then be altered by 8. Screw the L-shape fixing screws onto their
adjusting the wire rope with the steel wire buckle and wire corresponding holders in all four corner locations on
rope fastening screw. (spare part #5 and #4) the panel surface (spare part #2 and #1)
7. Ensure that the distance for all four wires from ceiling are 9. Attach fixture with the four aircraft cables
of the same length, and are equidistant from the center. 10. Refer to the wiring section for wiring connection

Adjust length V/ Z
~ of wire E é

Energy Efficient Lighting Ltd | www.eelighting.ca | Tel: 1-855-415-8878 R201202-1700



INSTALLATION INSTRUCTIONS FOR PLB BACK-LIT PANEL LIGHT
Lighting

Option #3 Recessed Mount (Optional)
1) Assemble the four pieces of the Flange Kit using the screw provided.

2) Attach the Flange Kit to the ceiling using aircraft cables/jack chain. Alternatively, screw the Flange kit to wood or metal blocks.
3) Refer to the wiring section for wiring connection

4) Rotate and slide the panel light through the opening on the ceiling and place it on the Flange kit.

Flange Kit

Aircraft Cables / Jack Chain (by others) Wood or Metal Blocks (by others)

Wi ring & FlangeKit =]

1. Unscrew the access plates. 2. Run BX cable to the driver box.

3. Connect wires according to the picture below.
(Dimming wires are optional)

DIM-(gray) oo
DIM+(purple)[ bimming

Energy Efficient Lighting Ltd | www.eelighting.ca | Tel: 1-855-415-8878 R201202-1700



Lighting

INSTRUCTIONS D’INSTALLATION POUR LAMPE RETROECLAIREE A DEL

LIRE LES INSTRUCTIONS ET EXAMINER TOUS LES DIAGRAMMES AVANT D'INSTALLER L'APPAREIL. CONSERVER CES INSTRUCTIONS A DES FINS DE REFERENCES ULTERIEURES.

AVERTISSEMENT:

RISQUE DE DECHARGE ELECTRIQUE S'assurer que l'alimentation principale est HORS CIRCUIT avant d'installer ou d'entretenir le luminaire. Ne jamais effectuer

I'entretien

GENERALITE

Ce produit DOIT étre installé conformément au code d'installation applicable par une personne familiére avec la fabrication et le fonctionnement de ce produit. Les luminaires
doivent étre cablés conformément au Code national d'électricité et a tous les codes locaux applicables. Une mise a la terre appropriée est exigée a des fins de sécurité.

NE PAS INSTALLER UN PRODUIT ENDOMMAGE! Ce luminaire a été correctement emballé afin qu'aucune piece ne soit endommagée pendant le transport.
Vérifier minutieusement I'appareil pour s'assurer qu'il n'a pas été endommagé pendant le transport; les dommages occasionnés pendant le transport doivent étre

signalés au transporteur.

MONTAGE ET INSTALLATION
Option n° 1 : montage sur barre en T (standard)

1. Retirer le panneau de plaque de platre du plafond ou le module d'origine du plafond.
2. Installer le voyant dans la plaque de platre au plafond ou dans I'espace réservé aux modules.
3. Utiliser les clips pour barre en T pour fixer le projecteur sur la barre en T ou raccorder le cable d'aéronef aux clips de la

barreen T.

1. Remplacer le luminaire existant du plafond par un panneau a DEL.

e aseess
SRS

Alternative 2:

Option n° 2 : montage en suspension (facultatif)

1. Confirmer que les piéces de rechange
suivantes sont incluses avant l'installation:

Alternative 1:

2. Sur la surface du plafond, marquer les quatre
coins correspondant a I'emplacement des ancrages

A\

Attention au risque de
décharge électrique

+ DEBRANCHER L'ALIMENTATION AVANT

+ TOUT LE TRAVAIL ELECTRIQUE DOIT ETRE EFFECTUE PAR DU
PER:

LINSTALLATION OU LENTRETIEN

'SONNEL QUALIFIE ET REPONDRE AUX CODES D'ELECTRICITE
REGIONAUX ET LOCAUX (NEC).

Accrocher le cable d'aéronef / la chaine
monte-charge aux clips en T

4. Pour chaque trou, percer d'abord le tuyau de
détente (piece de rechange n° 10 sur le schéma)

Voyant a DEL

Supports en L

Vis de fixation en L

de montage du voyant.

3. Percer chacun des quatre coins avec un diamétre

de 6 mm.

©

dans l'insertion nouvellement formée, puis fixer
solidement avec des bagues fixes de suspension et
des vis autotaraudeuses M4 (pieces de rechange n° 9
et n® 8 respectivement).

5. Visser le cable métallique (pieces de rechange n° 7
et n° 6) de sorte que le bouton du haut touche le

Vis de fixation de cable
Boucle en fil d'acier
Cable d'aéronef

Bagues fixes 2-1 de suspension
Vis autotaraudeuses M4
Bagues fixes 2-2 de suspension
Tube d'expansion

O|lo|(Nfo|u|dlw|N|F

BN B I [ R I (eC R I

=
o

6. La longueur de montage a partir du plafond peut ensuite étre
modifiée en ajustant le cable avec la boucle en acier et la vis de
fixation du cable. (Pieces de rechange n° 5 et n° 4)

7. S'assurer que la distance entre les quatre fils du plafond est de
méme longueur et équidistante du centre.

-\l S—

”,

Ajuster la
longueur du fil

@ plafond.

%

© ©

8. Visser les vis de fixation en L sur les supports
correspondants aux quatre coins de la surface du
panneau (piéces de rechange n° 2 et n° 1).

9. Fixer le luminaire avec les quatre cables d'aéronef
10. Consulter la section de cablage pour la connexion
de cablage

Energy Efficient Lighting Ltd | www.eelighting.ca | Tel: 1-855-415-8878

2 7
—

@®6mm

—_—]) e P

R201202-1700



INSTRUCTIONS D’INSTALLATION POUR LAMPE RETROECLAIREE A DEL
Lighting

Option n° 3 - montage encastré (optionnel)

1) Assembler les quatre piéces de la trousse de bride a I'aide de la vis fournie.
2) Fixer la trousse de bride au plafond a I'aide des cables d'aéronef / de la chaine monte-charge. Il est également possible de visser la trousse

de bride sur des blocs de bois ou de métal.

3) Consulter la section de cablage pour la connexion de cablage

4) Faire pivoter et glisser le voyant dans I'ouverture du plafond et le placer sur la trousse de bride.

Cablage

la trousse de bride

Cable d'aéronef / chaine monte-charge

P
=Vl

la trousse
de bride

blocs de bois ou de métal

—

1. Dévisser les plaques d'acces.

2. Connecter le cable BX au boitier

3. Connecter les fils conformément a I'image
ci-dessous. (Les fils de gradation sont optionnels)

N(blanc)
L(noir)
G (Vert)

DIM-(gris)

DIM+(VioIet)]_

0-10V
Dimming

4. Remettre le capot du pilote en place et
le fixer avec des vis

Energy Efficient Lighting Ltd | www.eelighting.ca | Tel: 1-855-415-8878

R201202-1700



	1: English
	2: English
	3: French
	4: French

